H £ 0l & AFH S 8 Al
A BESMT
By LNHHDIH
Shel: XISt B2l (Xt B2l SE 3 H) (el 2l
SN - BB G(SH) - NPAY - BYS 01l ato e HI RS2
SHE Mt 438,183 448,585 210,402
THEZEH 438,183 448,585 210,402
Kota=2el(Klot=2elSE3H) 438,183 448,585 210,402
Klot 2tel 77,430 75,900 1,530
201 et | 50,130 48,600 1,530
01 AtR2t2l bl 6,510 5,760 750
O1DXMN &8 TelE El
250,000 *424*33| 3,000
OXiote O|ERES RS ARES 300
Os+d S EES 1,000
OXct=2te|RAds &S
100,000 *5H*13| 500
OXote2te|RF8 A S 2|
8,000 x2H x5 x 123 960
OXIgt 22| IS8l 750
—&A= 150,000 5% 750
02 23234l 43,620 42,840 780
OogeteERz 5002 x20021 x 12& 1,200
OXlgt=EX 254 REAIERZ
70,0003 122 840
(OINE=F=4=1E=IN]:] 41,580
—E2 X5t 2EL AIEEHIRA
1,530,000 #1300 & 19,890
— A& &l 2lbl
1,530,000 #1301 2 19,890
— XISt == AHEDI| WA
120,000 = 1504 1,800
202 Oi4| 1,500 1,500
01 =LHAYI 1,500 1,500
OXlot+=w=(MOILL) A0 1,500
203 R F=&d| 1,000 1,000
03 A| =R YR =&Y 1,000 1,000
OXIot=2te| AMMYREEY| 1,000
207 A0 21,600 21,600
01 232 E | 21,600 21,600
OXIgt= O|ZAEIZAHSR & 22 25)
90,0003 x240= 21,600
401 AIEBIZ 2CHY| 3,200 3,200
01 Al&H| 3,200 3,200
OXot=ExE JA=FI3A
1,600,000 *2IH 3,200
olglgl(XIst=2el SE3IH) 4,000 372,685 A 368,685
801 oilblbl 4,000 372,685 368,685
01 BHolbl bl 4,000 372,685 A 368,685
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A M
SEEARH
N5t 22l (X522l S sl ) (ool ®9)
2 - IE]
SA - SR(S) - NPAY - BES 0l &t S HimE=S
| Oolll 4,000
Mgz (Xist=2el S8l AH) 356,753 0 356,753
706 JIEHLHS D4 eH 356,753 0 356,753
03 ZEg= 356,753 0 356,753
OXot=01ZRE= HE= 356,753
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